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Grade VI I   

Lesson  :  3  DATA HANDLI NG 

 

 

 

    

1. The ages of  10 t eacher s in a school ar e 32,41,28,54,35,26,33,38,40 (NCERT) 

 The r ange of  ages of  t eacher s is : 

 a) 30 year s b) 32 year s c) 40 year s d) 31 year s 

2. Mode of  given dat a 2,2,2,3,3,4,5,5,5,6,6,8 is : 

 a) 2 b) 3 c) 5 d) 2,5 bot h 

3. The pr obabilit y of  an event  is always a f r act ion bet ween: 

 a) 0 and 1 b) 1 and 2 c) 2 and 3 d) None of  t hese 

4. Which of  t he f ollowing is t he mean of  f ir st  f ive nat ur al number s? 

 a) 2 b)3 c) 4 d) 5 

5. Which of  t he f ollowing is t he mode of  t he dat a 1,1,2,4,3,2,1,2,2,4? 

 a) 1 b) 2 c) 3 d) 4 

6.  An unbiased die is t ossed once.  Which of  t he f ollowing is t he pr obabilit y of  get t ing an even

   number  ? 

 a) 1 b) 
ଵଶ	 c) 

ଵଷ d) 
ଵସ 

7.  A cont ainer  cont ains 3 r ed and 4 black balls.  I f  one ball is select ed at  r andom f r om t he 

   cont ainer , what  is t he pr obabilit y t hat  it  is black? 

  a) 
ଷ଻                           b) 

ସ଻                           c) 1                              d) zer o 

8. A number  is select ed at  r andom f r om t he f ir st  f ive nat ur al number s.  Find t he pr obabilit y 

  t hat  t he number  is a pr ime? 

  a) 
ଷ଻                            b) 

ଵଶ                         c) 
ଷହ                                 d) 

ଶହ 

9. The r ange of  t he dat a 14,6,12,17,21,10,4,3 is (NCERT) 

           a) 21 b) 17 c) 18 d) 11 

10. The mode of  t he dat a 23,26,22,29,29,26,29,22,23 is  

  a) 23 and 29 b) 23 only c) 29 only d)26 only 

I .  Mult iple choice quest ions 

Object ive Type Quest ions 
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11. The median of  t he dat a  40,50,99,68,98,60,94 is  

  a) 40 b) 60 c) 68 d) 99 

12. Which of  t he f ollowing has t he same mean, median and mode? 

  a) 6,2,5,4,3,4,1 b) 4,2,2,1,3,2,3 c) 2,3,7,3,8,3,2 d) 4,3,4,3,4,6,4 

13. Let  x, y, z be t hr ee obser vat ions.  The mean of  t hese obser vat ions is 

  a) 
௫	௑௬௑௭ଷ            b) 

௫ା௬ା௭ଷ            c) 
௫ି௬ି௭ଷ            d) 

௫	௑௬ା௭ଷ            

14. The number  of  t r ees in dif f er ent  par ks of  a cit y ar e 33,38,48,33,34,34,33 and 24.  The 

  mode of  t his dat a is. 

  a) 24 b) 34 c) 33 d) 48 

15. Which measur es of  cent r al t endency get  af f ect ed if  t he ext r eme obser vat ions on bot h t he 

  ends of  a dat a ar r anged in descending or der  ar e r emoved? 

  a) Mean And Mode b) Mean and Median  

  c) Mode and Median c) Mean, Median and Mode 

 

16. The r ange of  t he dat a : 21,6,17,18,12,8,4,13 is  

  a) 17 b) 12 c) 8 d) 15 

17. The median of  t he dat a: 3,4,5,6,7,3,4 is 

  a) 5 b) 3 c) 4 d) 6 

18. Out  of  5 br ands of  chocolat es in a shop a boy has t o pur chase t he br and which is most  liked  

  by childr en.  What  measur e of  cent r al t endency would be most  appr opr iat e if  t he dat a is

   pr ovided t o him? 

  a) Mean b) Mode c) Median d) Any of  t hese 

19. What  is t he pr obabilit y of  picking up an ace f r om set  of  52 car ds? 

  a) 
ଵଵଷ                                 b) 

ଶ଺                          c) 
ଷ଺                           d) 

ସ଺ 

20. The dif f er ent  bet ween t he highest  and t he lowest  obser vat ions in a dat a is it s. 

  a) f r equency b) widt h c) r ange d) mode 

21. I n a school, only 2 out  of  5 st udent s can par t icipat e  in quiz. What  is t he chance t hat  a 

   st udent  picked at  r andom makes it  t o t he compet it ion? 

  a) 20 % b) 40% c) 50% d) 30% 

22. Some int eger s ar e mar ked on a boar d.  What  is t he r ange of  t hese int eger s? 

     

     a) 31 b) 37  

    c) 20 d) 3 

 

0                   15      

-11             -17 

           +20 

6                   -4 
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23. On t ossing a coin, t he out come is : 

 a) only head  b) only t ail  

 c) neit her  head nor  t ail  d) eit her  head or  t ail 

24. The mean of  t hr ee number s is 40.  All t he t hr ee number s ar e dif f er ent  nat ur al number s.  I f  

  lowest  is 19, what  could be highest  possible number  of  r emaining t wo number s? 

 a) 81 b) 40 c) 100 d) 71 

25. Khilona ear ned scor es of  97, 73 and 88 r espect ively in her  f ir st  t hr ee examinat ions.  I f  she 

  scor ed 80 in t he f our t h examinat ion, t hen her  aver age scor e will be. 

 a) incr eased by 1 b) incr eased by 1.5 c) decr eased by 1 d) decr eased by 1.5 

26. Which measur e of  cent r al t endency best  r epr esent s t he dat a of  t he most  popular  polit ician 

  af t er  a debat e? 

 a) Mean b) Median c) Mode d) Any of  t he above 

1. d 2. d 3. a 4. b 5. b 6. b 7. b 8. c 9. c 10. c 

11. c 12. d 13. b 14. c 15. a 16. a 17. c 18. b 19. a 20. c 

21. b 22. b 23. d 24. a 25. d 26.c     

 

 

 

1. The number  of  t r ees in dif f er ent  par ks of  a cit y ar e 33,38,48,33,34,33 and 24 

 a) 24 b) 34 c) 33 d) 482 

2. Which measur es of  cent r al t endency get   af f ect ed  if  t he ext r eme obser vat ions on bot h  t he 

   ends of  a dat a ar r anged in descending or der  ar e r emoved? 

 a) Mean and Mode  b) Mean and Median  

 c) Mode and Median  d) Mean, Median  and Mode 

3. The median of  t he  dat a : 3,4,5,6,7,3,4, is 

 a) 5 b) 3 c) 4 d) 6 

4. The mean of  f ir st  eight  whole number  is. 

 a) 4.5 b) 3.5 c) 3 d) 4 

5.  The mode of  t he dat a 3.6, 3.4, 3.6, 3.1, 3.2, 3.4, 3.6, 3.5 is  

 a) 3 b) 3.6 c) 3.4 d) 3.5 

 

I I .  Mult iple choice quest ions 
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6. The mean of  f ir st  f ive mult iples of  8 is 

 a) 24 b) 28 c) 16 d) 30 

7. Ther e ar e 2 aces in each of  t he given set  of  car ds placed f ace down. Fr om which set   

  ar e you cer t ain  t o pick t he t wo aces in t he f ir st  go? 

 a)    b) 

 

 

 c)  d) 

 

  

8. I n a school, only 2 out  of  5 st udent s can par t icipat e in a quiz, What  is t he chance   t hat  a 

 st udent  picked at  r andom makes it  t o t he compet it ion? 

 a) 20% b) 40% c) 50% d)  30% 

9. Which of  t he f ollowing event s is cer t ain t o happen? 

 a) Tomor r ow will be a cloudy day. b) You ar e younger  t han t omor r ow? 

 c) Get t ing a head when a coin is t ossed d) I ndia winning t he next  t est  ser ies 

10. Which of  t he f ollowing has t he same mean, median and mode? 

 a) 6,2,5,4,3,4,1 b) 4,2,2,1,3,2,3 c) 2,3,7,3,8,3,2 d) 4,3,4,3,4,6,4 

1. c 2. a 3. c 4. b 5. b 6. a 7.c 8. b 9. b 10.d 

 

 

1.  I f  mean of  6 obser vat ions is4, t hen t heir  sum is. 

 a) 20 b) 22 c) 24 d) 26 

2. The r uns scor ed in a cr icket  mat ch by 11 player s ar e as f ollows:        

 6, 15, 120, 50, 100, 80, 10, 15, 8, 10, 10. Find t he median of  scor es. 

 a) 46 b) 8 c) 15 d) 120 

3. The money saved by a st udent  dur ing f ir st  six days of  a week ar e Rs.46,  Rs.24,  Rs.29, 

 Rs.27, Rs.4 and Rs.42. Find t he aver age saving per  day 

 a) 42 b) 39 c) 35 d) 36 

I I I .  Mult iple choice quest ions 
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4. A bag is having 4 r ed balls and 6 yellow balls. I f  a ball is pulled out  wit hout  seeing 

 t hem, t hen f ind t he pr obabilit y of  get t ing a r ed ball. 

  a) 
ଶହ                            b) 

ଷହ                          c) 
ଽଵଶ                          d) 

ଶଷ 

1. c 2. c 3. c 4. a 

 

 

 

 

 

1. The mean of  f ir st  f ive pr ime number s is _______. 

2. The pr obabilit y of  get t ing a number  gr eat er  t han 2 on t hr owing a die once is _______ . 

3. The dif f er ence bet ween t he highest  and t he lowest  obser vat ion of  a dat a is called _______ . 

4. The mean of  a dat a is def ined as _______ . 

5. I n a set  of  obser vat ions, t he obser vat ion t hat  occur s t he most  of t en is called _______ . 

6. I n a given dat a, ar r anged in ascending or  descending or der , t he middle most  obser vat ion is 

 called _______ . 

7. Mean, Median, Mode ar e t he measur es of  _______ . 

8. The pr obabilit y of  an event  which is impossible t o happen is  _______ . 

9. The pr obabilit y of  an event  which is cer t ain t o happen is _______ . 

10. When a  die is t hr own, t he pr obabilit y of  get t ing a number  less t han 7 is _______ . 

11. I n t hr owing a die t he number  of  possible out comes is _______ . 

12. _______  can be used t o compar e t wo collect ions of  dat a. 

13. The r epr esent at ion of  dat a wit h bar s of  unif or m widt h is called _______ . 

14. I f  t he ar it hmet ic means of  8,4,x,6,2,7 is 5, t hen t he value of  x is _______ . 

15.  The median of  any dat a lies bet ween t he _______  and _______ obser vat ions. 

16.  Median is one of  t he obser vat ion in t he dat a if  number  of  obser vat ions is _______ . 

 

 

 

Hint s /  Solut ions 

I .  Fill in t he Blanks 
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 1. 5 -6     2.  
ଶଷ        3. Range  

 4. Sum of  all obser vat ions  ÷  Number  of  obser vat ions 5. Mode 

 6. Median 7. Cent r al t endency 8. 0 9. 1 

 10. 1 11. 6 12. Double bar  gr aph 13. Bar  gr aph  

 14. 3 15. Highest , lowest  16. Odd 

 

 

 

 

1. The median of  dat a 18, 14,24,29,27 is ________. 

 For  median, ar r angement  of  given dat a in ascending or der . 

                   14,  18,            ,  27,  29 

2.The r ange of  t he dat a 17,26,33,37,61,69,91,97 ______.  

 Range = Maximum value – minimum value = 97 – 17  = 80. 

3. The mode of  t he f ollowing dat a  62,61,49,37,91,61,47,53,54,97,98,99 is ____. 

 Mode = Maximum occur r ing obser vat ion = 67 (occur s 2 t imes). 

4. I f  12 obser vat ion’s mean is 6.  Then, t he sum of  12 obser vat ions is ______. 

 Mean = 
ௌ௨௠	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ 

⟹ 6 = 
ௌ௨௠	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ଵଶ  

 Sum of  obser vat ions = 12 x6 = 72. 

 

 

1. The mode of  t he obser vat ion 23,26,15,12,28,38,19,23,26,23 is 28. 

2. Median of  t he dat a : 4,5,9,2,6,8,7 is 2 

3. I f  a die is t hr own, t he pr obabilit y of  get t ing a number  gr eat er  t han 6 is 1. 

4. When a coin is t ossed, t her e ar e 2 possible out comes. 

5. I f  t he ext r eme obser vat ion on bot h t he ends of  a dat a ar r anged in ascending or der  ar e 

 r emoved, t he median get s af f ect ed. 

I I .  Fill in t he Blanks 

28 

I  True or False 
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6. The measur es of  cent r al t endency of  may not  lie bet ween  t he maximum and minimum values 

 of  dat a. 

7. I t  is impossible t o get  a sum of  t he number s on bot h dice when a pair  of  dice is t hr own 

 t oget her . 

8. The pr obabilit y of  t he spinning ar r ow st opping in t he shaded r egion is 
ଵଶ. 

 

 

 

 

9. A coin is t ossed 15 t imes and t he out comes ar e r ecor ded as f ollows. 

         H T T H T H H H T T H T H T T. The chance of  occur r ence of  a head is 50 per cent . 

9. Mean, Median and Mode may be t he same f or  some dat a. 

10. The pr obabilit y of  get t ing an ace out  of  a deck of  car ds is gr eat er  t han 1. 

11. Mean of  t he dat a is always f r om t he given dat a. 

12. Median of  t he dat a may or  may not  be f r om t he given dat a. 

13. Mode of  t he dat a is always f r om t he given dat a. 

14. Mean of  t he obser vat ions can be lesser  t han each of  t he obser vat ions. 

15. Mean can never  be a f r act ion. 

16. Range of  t he dat a is always f r om t he dat a. 

17. The dat a 12,13,14,15,16 has ever y obser vat ion as mode. 

18. The r ange of  t he dat a 2, -5, 4, 3,7,6 would change if  2 was subt r act ed f r om each value in 

 t he dat a. 

19. The r ange of  t he dat a 3,7,1,-2,2,6,-3,-5 would change if  8 was added t o each value in t he 

 dat a. 

1. False 2. False 3. False 4. Tr ue 5. False 6. False 7. Tr ue 

8. Tr ue 9. False 10. Tr ue 11. False 12. False 13. Tr ue 14. Tr ue 

15. False 16. False  17. False 18. Tr ue 19. False 20. False  
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1. The mean of  t he dat a 20,40,60,80,70,is 55. 

 False, given mean = 55 

 Sum of  20,40, 60, 80 and 70 = 270 

 Mean = 
ௌ௨௠	௢௙	௔௟௟	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡ = 

ଶ଻଴ହ   = 54. 

 2. The value of is 4 in t ݔ  he dat a 16,8,2,6,	0,4,6,ݔ wher e mean is 5. 

  ∴ Mean = 
ௌ௨௠	௢௙	௔௟௟	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡   

  ⟹  5 =  
ଵ଺ା଼ାଶା଺ା௫ା଴ାସା଺଼  ⟹  5= 

ସଶା௫଼  

  ⟹  5 x 8 = 42 + ݔ 															ݔ + 42 = 40  ⟹ 															ݔ  = 42 = 40  ⟹ 														ݔ  = 2 -  ⟹ 														2 - = ݔ ∴. 

  3. The mean of  2, 18, 46 is 22 is equal t o mean of  10,12,26. 

 False mean of  2, 18, 46 is 22. 

          ∴ Mean = 
ଵ଴ାଵଶାଶ଺ଷ  = 

ସଷ଼  = 16 

 So, means ar e not  equal. 

 

 

 

 

 

 

 

 

 

I I .  True or False 
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Mat ch t he Column A t o Column B 

Column A Column B 

a) Ar it hmet ic mean i) Highest  f r equency 

b) Range ii) Middle obser vat ion 

c) Median iii) 
ௌ௨௠	௢௙	௔௟௟	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ 

d) Mode iv)Highest  obser vat ion 

Lowest  obser vat ion 

 

 

 

 

 

 

1.  What  is t he mean of  f irst  f our count ing number? 

 
ଵାଶାଷାସସ      = 

ଵ଴ସ    = 2.5 

2.  What  is t he mean of  f our highest  single digit  count ing numbers? 

  
଺ା଻ା଼ାଽସ      = 

ଷ଴ସ    = 7.5 

3.  I f  t he mode of  t he dat a 1, 1,  2, 2,  3, 3,  4, 4,  5, 5,  x is 2 then  what  is the value of  x 

  x =2 

4.  What  is t he mean of  98,  99,  100,  0,  1 and 2  

  
ଽ଼ାଽଽାଵ଴଴ା଴ାଵାଶ଺      = 

ଷ଴଴ସ଺    = 50 

5.  What  is t he probabilit y of  an impossible event ? 

  0 

 

 

 

 

a-iii b-iv c-ii D -i 

I .  Mat ch t he f ollowing 

I .  Very Short  Answer Quest ions I .  Very Short  Answer Quest ions 
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1.  Let  x,  y,  z be there observat ions,  what  will be mean of  these observat ions? 

 Mean  = 
௫ା௬	௭ଷ  

2.  What  do you call t he dif f erence bet ween t he highest  and the lowest  observat ion? 

 Range 

3.  What  will be t he outcome of  t ossing a coin? 

 I t  will be eit her  head of  t ail. 

4.  Def ine f requent ly of  an observat ion. 

 The number   of  t imes a par t icular  obser vat ion occur s is called f r equent ly. 

5.  Def ine Mode .  

 Mode of  a set  of  obser vat ions is t he value of  t he obser vat ion t hat   occur s most  f r equent ly. 

6.  Find range of  t he dat a :  21, 6, 17, 18, 12, 8, 4, 13.  

 Range = L-S   = 21 – 4   = 17. 

 

 

 

1.  A die is thrown,  Find the probabilit y of  get t ing a  number great er t han or equal  t o 3.  

 Possible out comes = 1, 2, 3, 4, 5, 6 

 Favour able out comes = 3,4,5,6 

 ∴ Requir ed pr obabilit y = 
ସ଺  = 

ଶଷ. 

2.  Find the mean of  f irst  f ive even numbers. 

 Fir st  f ive even number s = 2,4,6,8,10 

Sum of  f ir st  even number s = 2+4+6+8+10 = 30 

Mean = 
ௌ௨௠	௢௙	௧௛௘	௡௨௠௕௘௥௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ = 

ଷ଴ହ  = 6 

Hence, mean of  f ir st  f ive even number s is 6. 

3.  Find a number bet ween 
૚૜  and 

૚૝.  

 

భయା	భయଶ  + 
రశయభమ 	ଶ  = 

ళభమଶ  =
଻ଵଶ  x  

ଵଶ = 
଻ଶସ 

Hence, t he number  bet ween  t hem. 

Number  bet ween 
ଵଷ  and 

ଵସ is 
଻ଶସ . 

 

I I .  Very Short  Answer Quest ions 

I I I .  Very Short  Answer Quest ions 



 

 

 

                                                                         11                                                      Created by Pinkz 

 

 

4.  Find the range of  the data  12, 4, 6, 7, 9, 14, 26, 36.  

Given dat a 12,4,6,7,9,14,26,36 

 Ascending or der  of  t he given dat a  

 4,6,7,9,12,14,26,36 

 Range  = Maximum value – Minimum value  

 = 36 -4 = 32. 

5.  Find the range of  the given values :  140, 136, 138, 142, 141, 146, 139 

 Ascending or der  : 136,138,139,140,141,142,146 

R = L – S 

= 146 – 136  = 10. 

6.  A cricket er’s scores in  4 innings are 64,  32,  68 and 92  

 Sum of  scor es = 64 + 22+ 68+ 92  =256 

Mean of  scor es = 
்௢௧௔௟	ௌ௖௢௥௘௦ே௨௠௕௘௥	௢௙	௜௡௡௜௡௚௦    =  

ଶହ଺ସ    = 64. 

7.  Find the median of  the f ollowing  data 43, 46, 69, 62, 91, 72, 74  

 Ascending Or der  of  t he given dat a  :  42,46,62,69,72,91,74 ∴	Median = Middle value = 69. 

8.  Find the mode of  the f ollowing weight s ( in kg).  

 39,36,35,36,41,49,36 

 Given weight s (in kg) ar e  39,36, 35,36,41,49 and 36  

Mode is t he most  occur r ing obser vat ions. 

 Her e, 36 kg occur s 3 t imes 

  ∴ Mode = 36 kg. 

9.  The height  of  6 girls in a group are 142 cm,  150cm,  146cm,  154cm,  x cm and 148 cm

  t heir average height  is 147.  Then,  f ind the value of  x.  

 Given height s (in cm)  of  6 gir ls in  a gr oup ar e 142, 150 , 146, 154, x and 148= 740 + x 

 Mean/ Aver age  = 
ௌ௨௠	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦  									⟹  147 = 

଻ସ଴ା௫଺  ⟹ 147 x 6 = 740 + x 									⟹ 882 = 740 + ݔ  ⟹  .142 = 740 – 882 =	ݔ
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10.  A single card is chosen at  random f rom a standard deck of  52 playing cards.   What  is 

 t he probabilit y of  choosing a king? 

  A st andar d deck cont ains 4  kings. 

So, pr obabilit y of  get t ing a  king = 
ସହଶ = 

ଵଵଷ 

11.  The scores in Mathemat ics t est  (out  of  35) of  15 st udent s is as f ollows : 

18,21,23,24,19,18,17,16,15,25,22,20,9,4,6. Find t he median of  t his dat a. 

For  median, we have t o ar r ange t he given dat a in ascending or der . 

4,6,9,15,16,17,18,18,19,20,21,22,23,24,25 											∴ Median  =  Middle obser vat ion  = 18. 

12.  The runs scored in a cricket  mat ch by 11 players is as f ollows: 

 0,9,65,72,49,51,23,24,8,4,26. Find t he mean. 

As per  t he given inf or mat ion, r uns scor ed by 11 player s in a cr icket  ar e  

  0,9,65,72,49,51,23,24,8,4 and 26. 

Mean = 
ௌ௨௠	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ 

Sum of  all obser vat ion 

= 0+ 9+65+72+49+51+23+24+8+4+26 

=331                                                                                                                                                    								∴	 Mean = 
ଷଷଵଵଵ  

= 30.99 

 

 

 

1. The runs scored in a cricket    mat ch by 11 players is as f ollows ?   

 6, 15, 120, 50, 100, 80, 10, 15, 8,10,15 Find  

Find mean of  t his dat a  

Mean = 
்௢௧௔௟	௢௙	ௗ௔௧௔ே௨௠௕௘௥	௢௙	ௗ௔௧௔ 

Put t ing t he given values  we get ,  

6 + 15 + 120 + 50+100 +80 

 = 
଺ାଵହାଵଶ଴ାହ଴ାଵ଴଴ା଼଴ାଵ଴ାଵହା଼ାଵ଴ାଵହଵଵ  

=
ସଶଽଵଵ   =  39. 

I  Short  Answer Quest ions 
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2.  Find the modes of  the f ollowing :  

 a) 2,6,5,3,0,3,2,4,5,2,4  b) 2,14,16,12,14,14,16,14,10,14,18,14 

 a) Since dat a is as f ollows : 

 2,6,5,3,0,3,2,4,5,2,4 

 2 occur  maximum t imes 

 So t he mode of  given dat a is 2 

 b) Given dat a is : 

2,14,16,12,14,14,16,14,10,14,18,14 

I n t he given dat a f r equency  of  14 is 6, which is maximum 

3.  For t he f ollowing data 39, 48, 56, 75, 76, 81, 85, 85, 90, 95 f ind the range and mean. 

 Since given dat a is 39,48,56,75,76,81,85,85,90,95 

 I n t he given dat a 

 Maximum = 95 

 Minimum  = 39 												∴   Range = Maximum – Minimum 

  = 95 -39 = 56. 

 Mean is given by, we get   39 + 48 + 56 + 75 + 76 

 = 
ଷଽ	ା	ସା	ହ଺	ା	଻ହା଻଺ା଼ଵା଼ହାଽ଴ାଽହ	ଵ଴  

          = 
଻ଷ଴ଵ଴    = 73 

4.  Rahul  scored t he f ollowing number of  runs in six innings 34, 47, 37, 49, 54, 61 

Calculat e t he mean r uns scor ed by him per  inning 

Rahul scor e r uns scor ed by him per  inning  ar e as f ollows : 

34, 47,37,49,54,61  

Mean = 
ௌ௨௠	௢௙	௧௛௘	ௗ௔௧௔	ே௨௠௕௘௥	௢௙	ௗ௔௧௔  

= 
ଷସାଷ଻ାସ଻ାସଽାହସା଺ଵ଺  

= 
ଶ଼ଶ଺    = 47 

Thus. The mean r uns scor ed in an innings is 47 

5.  A coin is f lipped t o decide which t eam  st art   t he game,  what  is the Probabilit y that  

 your t eam will st art  .  

I f  a coin is f lipped t her e may be t wo comes head and Tail. 

So,  t he t ot al out comes = 2 
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Favour able out comes = 1 

Hence, Pr obabilit y  

= 
୊ୟ୴୭୳୰ୟୠ୪ୣ	୭୳୲ୡ୭୫ୣ୘୭୲ୟ୪	୒୳୫ୠୣ୰	୭୤	୭୳୲ୡ୭୫ୣୱ    = 

ଵଶ 

6.  Find the arithmet ic mean of  f irst  6 nat ural numbers 

 Fir st  six  nat ur al number s ar e 1,2,3,4,5,6 Let   X  denot e t heir  ar it hmet ic mean .  Then 

X = 
ଵାଶାଷାସାହା଺଺     = 

ଶଵ଺  = 
଻ଶ  = 3.5 

7.  Given below are the ages of  25 st udent s of  class VI I I  in a school.   Prepare a discrete 

 f requency dist ribut ion.     

15,16,16,14,17,17,16,15,15,16,16,17,15,16,16,14,16,15,14,15,16,16,15,14,15 

Age Tally mar ks Fr equency 

14 

15 

16 

17 

llll 

llll lll 

llll llll 

lll 

4 

8 

10 

3 

Tot al  25 

8.  Form a discret e f requency dist ribut ion f rom t he f ollowing scores: 

 15,18,16,20,25,24,25,20,16,15,18,18,16,24,15,20,28,30,27,16,24,25,20,18,28,27,25,24,24,

18,18,25,20,16,15,20,27,28,29,16 

Fr equency dist r ibut ion of  scor es : 

Age Tally mar ks Fr equency 

15 

16 

18 

20 

24 

25 

27 

28              

29 

30 

llll 

llll l 

llll l 

llll l 

llll  

llll  

lll 

lll 

l 

l 

4 

6 

6 

6 

5 

5 

3 

3 

1 

1 

Tot al  25 
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9.  Find  t he median of  t he dat a 

21,15,6,25,18,13,20,9,8,12 (NCERT Exemplar ) 

  Ar r anging in ascending or der  : 

6,8,9,12,13,15,18,20,21,25 

Since number  of  obser vat ions is even, t he median is given by f inding t he aver age or  mean of  t he 

t wo middle most  obser vat ions. 

So, median = 
ଵଷାଵହଶ	   = 

ଶଶ଼   = 14 

10.  I f  t he mean of  26, 28, 25, ,࢞   24 is 27 ,  f ind t he value of   (NCERT Exemplar) 

Mean = 
ௌ௨௠	௢௙	௔௟௟	௢௕௦௘௥௩௔௧௜௢௡௦	ே௎௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦	 

Or    27 = 
ଶ଺ାଶ଼ାଶହା௫ାଶସହ  

Or    27 = 
ଵ଴ଷା௫ହ  

Or  ݔ	+ 103 = 135   

Or  103 – 135 = ݔ   

So,  32 = ݔ 

11. The median of  observat ions 11, 12, 14, 18, ,2+࢞   20, 22, 25, 61,  arranged  in ascending 

 order is 21.   Find the value of .(NCERT Exemplar) ࢞   

Median f r om dat a  =  2+࢞ 

Or  2+࢞ = 21  

Or  21-2 = ࢞ 

Or  .19 = ࢞ 
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1.  I n a readymade garment  shop t he number of  shirt s sold per days during t he mont h of  

 December are given below.  

    32,40,33,30,35,40,32,33,40,36,30,32,30,36,34,33,40,32,33,40,32,35,35,30,32,33,34,33,35 

 Make a f r equency dist r ibut ion t able f or  above dat a. 

 Fr equency dist r ibut ion t able : 

Number  of  shir t s sold Tally mar ks Fr equency 

30 

32 

33 

34 

35 

36 

40 

llll 

llll l 

llll l 

ll 

llll  

ll  

llll  

 

4 

6 

6 

2 

4 

2 

5 

 

Tot al  29 

 

2.  On the basis of  f ollowing f requency t able f ind t he mean marks : 

Mar ks 20 30 40 50 60 70 

No. of  

st udent s 

12 45 48 5 32 40 

 

Mar ks (x) No. of  st udent s (f ) F x ݔ 

20 

30 

40 

50 

60 

70 

12 

45 

48 

5 

32 

40 

240 

1350 

1920 

250 

1920 

2800 

Tot al N = 182 ∑  8480 = 	ݔ݂

Mean = 
∑ ௙௫	ே  

Put t ing values f r om t able, 

Mean = 
଼ସ଼଴ଵ଼ଶ   = 46.59. 

I I  Short  Answer Quest ions 
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3.  I n a packet  there are f ive f lash cards 1, 2, 3, 4 and 5.  

 What  is t he pr obabilit y of  dr awing a  f lash car d bear ing 2? 

 I n t he given quest ion, 

 Number  of  maximum out comes  = 5 (As t her e ar e f ive f lash car ds) 

 Favour able out come, a f lash car d bear ing 2 

Hence,  

Pr obabilit y = 
୒୭.୭୤	୤ୟ୴୭୳୰ୟୠ୪ୣ	୭୳୲ୡ୭୫ୣୱ୘୭୲ୟ୪	୬୳୫ୠୣ୰	୭୤	୭୳୲ୡ୭୫ୣୱ	 = 

ଵହ. 

4.  A cont ainer has 3 red balls,  6 whit e balls.   I f   a ball is pulled wit hout  seeing t hem.  

 a) What  is t he pr obabilit y of  get t ing a r ed ball? 

 b) What  is t he pr obabilit y of  get t ing a whit e ball? 

Tot al number  of  balls= 3 + 6 = 9 

a) pr obabilit y of  get t ing a r ed ball = 
୘୭୲ୟ୪	୒୭.୭୤	୰ୣୢ	ୠୟ୪୪ୱ୘୭୲ୟ୪	୒୭.		୭୤		ୠୟ୪୪ୱ  = 

ଷଽ = 
ଵଷ 

b) pr obabilit y of  get t ing a r ed ball = 
୘୭୲ୟ୪	୒୭.୭୤	୵୦୧୲ୣ	ୠୟ୪୪ୱ୘୭୲ୟ୪	୒୭.		୭୤		ୠୟ୪୪ୱ  = 

଺ଽ = 
ଶଷ 

5. The ages in years of  10 t eachers in a school are 32, 41, 28, 54, 35, 26, 33, 38, 40.  

 a) What  is t he age of  t he oldest  t eacher  and t hat  of  t he youngest  t eacher ? 

 b) What  is t he r ange of  t he ages of  t he t eacher s? 

 c) What  is t he mean age of  t hese t eacher s? 

a) I n or der  t o f ind t he ages of  t he t eacher s, let  us ar r ange t heir  ages in ascending or der  

 as f ollows : 

 23,26,28,32,33,35,38,40,41,54 

We obser ve t hat  t he age of  t he oldest  t eacher  is 54 year s and t he age of  t he youngest  t eacher  

 is 23 year s. 

 b) We have, 

 Age of  t he oldest  t eacher  = 54 year s 

 Age of  t he youngest  t eacher  = 23 year s 

 ∴ Range of  t he ages of  t eacher s = (54-23) = 31 year s.    

 c) We have, 

  Mean age = 
ୗ୳୫	୭୤	୲୦ୣ	ୟ୥ୣୱ	୭୤	୲ୣୟୡ୦ୣ୰ୱ	୘୭୲ୟ୪	୒୭	୭୤	୲ୣୟୡ୦ୣ୰ୱ   

Mean age of  t eacher s = 
ଶଷାଶ଺ାଶ଼ାଷଶାଷଷାଷହାଷ଼ାସ଴ାସଵାହସଵ଴   

Mean age of  t eacher s =  
ଷହ଴ଵ଴  year s = 35 year s. 
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6.  Organise t he f ollowing grades in a class assessment  in a t abular f orm : 

 4, 6, 7, 5, 3, 5, 4, 5, 8, 6, 2, 5, 1, 9, 6, 7, 8, 4, 6, 7 

 Find t he ar it hmet ic mean of  gr ades. Also f ind t he high gr ade, t he lowest  gr ade and t he 

r ange of  t he dat a. 

 I n t he t abular  f or m, t he above dat a can be r epr esent ed as f ollows: 

  

Gr ade Tally Bar s Fr equency ( ௜݂) 

1 

2 

3 

4 

5 

6 

7 

8 

9 

l 

l 

l 

l l l 

l l l l 

l l l l 

l l l 

l l 

l 

1 

1 

1 

3 

4 

4 

3 

2 

1 

 

I n or der  t o comput e t he ar it hmet ic mean of  gr ades i.e. aver age gr ade, we pr epar e t he f ollowing 

t able : 

Comput at ion of  Ar it hmet ic Mean 

Gr ade (ݔ௜)  Fr equency ( ௜݂) 
௜ݔ 		ܺ	 ௜݂	 

1 

2 

3 

4 

5 

6 

7 

8 

9 

1 

1 

1 

3 

4 

4 

3 

2 

1 

 

1x1=1 

1x2=2 

1x3=3 

3x4=12 

4x5=20 

4x6=24 

3x7=21 

2x8=16 

1x9=9 

 

Tot al ∑ ݂݅	 = 20 ∑ ௜ = 108 ∴ Mean grݔ	݂݅ ade = 
∑ ௙௜	௫೔∑ ௙௜	  =	ଵ଴଼ଶ଴  = 5.4 

Hence t he mean gr ade is 5.4 

I t  is evident  f r om t he f r equency t able t hat  t he highest  and lowest  gr ades ar e 9 and 1 

r espect ively. 

 ∴ Range of  t he dat a = 9 -1 = 8 
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7.  I f  the mean of  f ive observat ions ࢞, ,2+࢞  ,4+࢞  ,6+࢞  ,8+ ࢞   is 11.   Find the mean of  

 f irst  t hree observat ions.  

 We have, 

 11 = 
ହ(ା଼࢞)	ା(ା଺࢞)	ା(ାସ࢞)	ା(ଶ	ା࢞)ା࢞  ⟹ 11 = 

ହ࢞ାଶ଴ହ Mean of ∴ 7 = ࢞ ⟹ 35 = ࢞	5 ⟹ 20 + ࢞	5 = 55 ⟹   f ir st  t hr ee obser vat ions 

= 
ଷ(ାସ࢞)	ା(ଶ	ା࢞)ା࢞  = 

ଷ࢞ା଺ଷ  

 9 = 7+2 =2+ ࢞ =

[∵ ݔ = 7]  

8.  The mean of  40 observat ions was 160.  I t  was det ected on re- checking t hat  t he value

  of  165 was wrongly copied as 125 f or comput at ion of  mean.   Find the correct  mean.  

We have, 

N = Number  of  obser vat ions = 40, Mean = 160 ∴ Mean = 
ௌ௨௠	௢௙	௧௛௘	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ ⟹ 160 = 

ௌ௨௠	௢௙	௧௛௘	௢௕௦௘௥௩௔௧௜௢௡௦ସ଴  ⟹ 160 x 40 = Sum of  obser vat ions 

Thus, incor r ect  sum of  obser vat ions = 160 x 40 

Now, 

Cor r ect  sum of  t he obser vat ions = I ncor r ect  sum of  t he obser vat ions – I ncor r ect  obser vat ion + 

cor r ect  obser vat ion ⟹ Cor r ect  sum of  t he obser vat ions = 160 x 40 – 125 + 165 ⟹ Cor r ect  sum of  t he obser vat ions = 6400 + 40 = 6440 ∴ Cor r ect  Mean = 
஼௢௥௥௘௖௧	௦௨௠	௢௙	௧௛௘	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦  = 

଺ସସ଴ସ଴  = 161. 
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9.  The mean of  10 observat ions was calculated as 40.  I t  was det ect ed on rechecking  t hat  

 t he value of  45 was wrongly copied as 15.  Find t he correct  mean.  

Mean = 
ௌ௨௠	௢௙	௔௟௟	௢௕௦௘௥௩௔௧௜௢௡௦ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ 

Or   

40 = 
ௌ௨௠	௢௙௔௟௟	௢௕௦௘௥௩௔௧௜௢௡௦ଵ଴  

So, sum of  all obser vat ion = 400 

But  t his is incor r ect  sum, since one obser vat ion was copied wr ongly. 

So cor r ect  sum = I ncor r ect  sum – I ncor r ect  obser vat ion  + cor r ect  obser vat ion  

= 400 – 15 + 45= 430 

Cor r ect  Mean = 
஼௢௥௥௘௖௧	ௌ௨௠ே௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦ = 

ସଷ଴ଵ଴  = 43. 

10.  The f ollowing double bar graph represent s t est  mat ches result s summary f or Cricket  

 Team  of   count ry ࢞ against  dif f erent  count ries : 

 

 

 

 

 

 

 

 

Use t he bar  gr aph t o answer  t he f ollowing quest ions. 

a) Which count r y has managed maximum wins against  count r y ࢞? 

b) The dif f er ence bet ween t he number  of  mat ches won and lost  is highest  f or  which count r y

  against  count r y ࢞? 

c) Number  of  wins of  count r y E is t he same as number  of  losses of  which count r y against  

 count r y ࢞? 

 a) Count r y B  b) Count r y G   c) Count r y F 
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11.  The mean of  three numbers is 10.  The mean of  ot her f our numbers is 12.  Find the 

 mean of  t he numbers.  

 Mean of  3  number s = 
ௌ௨௠	௢௙	ଷ	௡௨௠௕௘௥௦ଷ  ⟹  10 = 

ௌ௨௠	௢௙	ଷ	௡௨௠௕௘௥௦ଷ  

Hence, sum of  3 number s = 30Also, 

Mean of  ot her  4 number s= 
ௌ௨௠	௢௙	௢௧௛௘௥	ସ	௡௨௠௕௘௥௦ସ  ⟹  12 = 

ௌ௨௠	௢௙	ସ	௡௨௠௕௘௥௦ସ  

Hence, sum of  ot her   4 number s = 48 

Then Mean of  all t he number s = ܵ݉ݑ	݂݋	݈݈ܽ	ݐℎ݁	݈݊ܽݐ݋ܶݏݎܾ݁݉ݑ	ݏݎܾ݁݉ݑ݊ ݏݎܾ݁݉ݑ݊	3	ݐݏݎ݂݅	݂݋	݉ݑܵ  + ݏݎܾ݁݉ݑ݊	݈ܽݐ݋ܶݏݎܾ݁݉ݑ݊	4ݎℎ݁ݐ݋݂݋	݉ݑܵ	 	 ଷ଴ାସ଼଻  = 
଻଻଼  = 11.14.  Hence mean of  all t he number  is 11.14. 

 

12.  Observe the data and answer t he quest ions t hat  f ollow 16, 15, 16, 16, 8, 15, 17.  

a) Which data value can be put  in the dat a,  so t hat  the mode remains t he same? 

b) At  least  how many and which value(s) must  be put  int o change t he mode t o 15? 

c) What  is t he least  number of  data values t hat  must  be put  int o t o change the mode to 

 17? 

Name t hem. 

Ar r anging t he given dat a in ascending or der  

8,15,15,16,16,16,17 

a) As per  t he given dat a, 16 is t he mode of  dat a, since it  has highest  f r equency i.e.3. 

Now, if  15 is added t o t he given dat a, mode will get  changed t o 15 and 16 wher eas if  any ot her  

number  i.e. 8,16 or  17  is added, mode will r emain same. 

b) At  least  t wo 15’s should be added t o change t he mode t o 15. On adding t wo 15’s , t he 

f r equency of  15 will be maximum i.e.4, 

c) We will have t o add at  least  t hr ee 17’s t o change t he mode t o 17.  On adding t hr ee 17’s t he 

f r equency of  17 will be maximum i.e.4. 
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1.  The scores in mathemat ics test  (out  of  25) of  15 st udent s are as f ollows : 

 19,25,23,20,9,20,15,10,5,16,25,20,24,12,20 

Find t he mean, mode and median of  t his dat a.  Ar e t he t hr ee same? 

Ar r anging t he number s wit h same value t oget her  we  get  

5,9,10,12,15,16,19,20,20,20,20,20,23,24,25,25 ∴ Mode of  dat a is 20 as it  occur s mor e f r equent ly t han ot her  obser vat ions 

The Mean = 
ௌ௨௠	௢௙	௔௟௟	௢௕௦௘௥௩௔௧௜௢௡௦்௢௧௔௟	௡௨௠௕௘௥	௢௙	௢௕௦௘௥௩௔௧௜௢௡௦	 = 

ଶ଺ଷଵହ  = 17.4 

And Media is t hat  middle obser vat ion.  Ther ef or e, 20 is t he median 

Hence, Median and mode ar e equal i.e. 20 but  mean is dif f er ent . 

2.  The enrolment  in a school during six consecut ive years was as f ollows :   

 1555, 1670, 1750, 2013 , 2540, 2820 

 Find t he mean enr olment  of  t he school f or  t his per iod. 

 Sums of  enr olment  of  t he school f or  t his per iod. =  

( 1555 + 1670 + 1750 + 2013 + 2540 + 2820) = 12,348 

Number  of  year s = 6 

 ∴ Mean enr olment  = 
ௌ௨௠	௢௙	௘௡௥௢௟௠௘௡௧	௡௨௠௕௘௥	௢௙	௒௘௔௥௦	 = 

ଵଶଷସ଼଺  = 2,058 

3.  For t he dat a given below,  calculat e t he mean of  it s median and mode.  

 6,2,5,4,3,4,4,2,3 

 Ar r anging t he number s wit h same value t oget her , we get  

2,2,3,3,4,4,4,5,6 ∴ Mode = 4 as it  occur s most  of  t ime 

So, Median = 4 

Now, Mean of  median and mode = 
ெ௘ௗ௜௔௡ାெ௢ௗ௘	ଶ	  = 

ସାସଶ  =  ଶ଼	    =  4 

4.  The let ters writ ten on paper slips of  t he word MEDI AN  are put  in a bag.   I f  one slip 

 is drawn randomly,  what  is the probabilit y that  it  bears t he let ter D? 

Tot al number  of  let t er s = 6 ∴ Tot al number  of  t r ials = 6 

Pr obabilit y of  get t ing let t er  D = 
ி௥௘௤௨௘௡௖௬		௢௙	௟௘௧௧௘௥	஽	்௢௧௔௟	௧௥௜௔௟௦	  

Pr obabilit y of  get t ing let t er  D = 
ଵ	଺	. 

 

I I  Short  Answer Quest ions 
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5.  Age ( in year) of  children of  t wo groups are recorded as below: 

Age ( in Year s) 

Gr oup A Gr oup B 

7 

7 

9 

8 

10 

10 

7 

9 

11 

12 

12 

12 

 i) Find t he mode and r ange f or  each gr oup. 

 ii) Find t he r ange and mode if  t he t wo gr oups ar e combined t oget her . 

 i) Gr oup A 

 Mode = 7 and 10, as t hey occur  2 t imes each. 

 Range  = 10 -7 = 3 

 Gr oup B 

 Mode  = 12 

 Range  = 12 -7 = 5 

ii) Mode = 7 and 12, as t hey occur  3 t imes each. 

 Range  = 12 -7 = 5 

6.  A coin is t ossed 1000 t imes with t he f ollowing f requencies: 

Head: 445 Tail : 555 

When a coin is t ossed at  r andom, what  is t he pr obabilit y of  get t ing i) a head?    ii) a t ail? 

Tot al number  of  t r ials = 1000 

Number  of  t imes head comes up = 445 

Number  of  t imes t ail comes up = 555 

Pr obabilit y of  get t ing  a head  = 
ே௨௠௕௘௥	௢௙	௛௘௔ௗ௦	்௢௧௔௟	௡௨௠௕௘௥	௢௙	௧௥௜௔௟௦	 = 

ସସହଵ଴଴଴ =  0.445 

Pr obabilit y of  get t ing  a t ail = 
ே௨௠௕௘௥	௢௙	௧௔௜௟௦	்௢௧௔௟	௡௨௠௕௘௥	௢௙	௧௥௜௔௟௦	 = 

ହହହଵ଴଴଴ =  0.555. 
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7.  St udy the bar graph given below and answer t he quest ions that  f ollow.  

 

  

 

 

 

 

 

i) I n which year  was pr oduct ion t he least ? 

ii) Af t er  which year  was t he maximum r ise in t he pr oduct ion? 

iii) Find t he aver age pr oduct ion of  r ice dur ing t he 5 year s 

 i) 2006 

 ii) 2006 

 iii) Rice pr oduct ion in 2006 = 40  million t onnes 

      Rice pr oduct ion in 2008 = 50  million t onnes 

    ∴ Dif f er ence of  r ice pr oduct ion = 50 – 40 million t onnes  

 = 10 million t onnes 

8.  Given below is a bar graph showing t he height s of  f ive mountain peaks.  

 

 

 

 

 

 

 Read t he bar  gr aph car ef ully and answer  t he f ollowing quest ions. 

 i) Which is t he highest  peak and what  is it s height ? 

 ii) What  is t he r at io of  t he height s of  t he highest  peak and t he nest  highest  peak? 

 iii) Ar r ange t he height s of  t he given peaks in descending or der . 

  i) Highest  peak is Mount  Ever est  and it s height  is 8800 m 

  ii) Requir ed Rat io = 
଼଼଴଴଼ଶ଴଴ = 

ସସସଵ = 44:41 

iii) Height s of  peaks in descending or der  ar e : 

 8800 m, 8200m, 8000m, 7500m 6000m 
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9.  The marks (out  of  100) obt ained by a group of  st udent s in a science t est  are 

 85, 76, 90, 85, 39, 48, 56, 95, 81 and 75.  Find the : 

 i) Highest  and t he lowest  mar ks obt ained by t he st udent s. 

 ii) Range of  t he mar ks obt ained 

 iii) Mean mar ks obt ained by t he gr oup 

  i) Highest  mar k  = 95 

   Lowest  mar k = 39 

  ii) Range = Highest  mar k – Lowest  mar k 

  = 95-39 = 56 

  iii) Mean of  mar ks = 
଼ହା଻଺ାଽ଴ା଼ହାଷଽାସ଼ାହ଺ାଽହା଼ଵା଻ହଵ଴  = 730/ 10 = 73 

10.  The mean weight  of  8 numbers is 15 kg.    I f  each number is mult iplied by 2,  what  will 

 be t he  new mean? 

 Let  x1, x2, x3....... x8 number s wit h t heir  mean equal t o 15 kg.  Then 

  15 =	  ୶భା	୶మା	୶యା	୶రା୶ఱା୶లା୶ళା	୶ఴ	଼  ⟹ x1+ x2....... + x8 = 15 x 8 ⟹ x1+ x2....... + x8 = 120 

New number s ar e  ⟹ 2x1+ 2x2+ 2x3....... +2 x8 .... Let  M be t heir  mean. Then. 

M = 
ଶ୶భା	ଶ୶మା	ଶ୶య.......ାଶ	୶ఴ	଼  

M = 
ଶ(୶భା	୶మା	୶య.......ା	୶ఴ) 	଼  

M = 
ଶ(ଵଶ଴) 	଼  

M =30. 

 

 

1.  The mean marks (out  of  100 ) of  a group of  st udent  is 60.   I f  t here marks are 

 85, 62, 36, 48, 72, X, 75 and 39.  Find the value of  X.  

 Mean is given as  

Mean = 
଼ହା଺ଶାଷ଺ାସ଼ା଻ଶା௫ା଻ହାଷଽ଼   = 60 

=⇒	 = 
ସଵ଻	௑	௫଼   = 60 

 480=  ݔ + 417  ⇒ =

= ∴  63 =  417 -  480 =  ݔ		

I  Long Answer Quest ions 
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2.  Following are the marks obtained by 25 st udent s in class t est  (out  of  25 marks) in 

 Maths :  18, 13, 18, 16, 8, 5, 13, 5, 18, 18, 2, 16, 13, 8, 17, 18, 5, 2, 13, 8, 19, 16, 8, 20 

How many st udent s obtained marks more t han t he mean marks? 

Ar r anging t he obser vat ions (mar ks) in ascending or der : 

2,2,5,5,5,8,8,8,8,13,13,13,16,16,16,17,17,18,18,18,18,18,19,20 

Sum of  obser vat ions 

2x2 = 4 

5x3=15 

8x4=32 

13x4=52 

16x3=48 

17x2=34 

18x5=90 

19x1=19 

20x1=20 

Tot al 314 

Number  of  st udent s = 25 

Mean mar ks = 
ୗ୳୫	୭୤	୲୦ୣ	୭ୠୱୣ୰୴ୟ୲୧୭୬ୱ୘୭୲ୟ୪	୬୳୫ୠୣ୰	୭୤	ୱ୲୳ୢୣ୬୲ୱ = 

ଷଵସଶହ  = 12.5 

So t he number  of  st udent s who scor ed mar ks mor e t han mean mar ks is 4+3+2+5+1+1 = 16. 

3.  For t he f ollowing data make a f requency dist ribut ion t able and answer the f ollowing 

 quest ions:  

40, 38, 40, 37, 35, 38, 31, 35, 40, 38, 38, 33, 40, 35, 31, 30, 37, 33, 30, 32, 38 

a) What  is the range of  given dat a? 

b) What  is the mode of  given data? 

 Fr equency Dist r ibut ion Table: 

Numbers Tally marks Frequency 

30 

31 

32 

33 

35 

37 

38 

40 

l l 

l l 

l 

l l l 

l l l 

l l 

l l l l 

l l l l 

2 

2 

1 

3 

3 

2 

5 

4 

Tot al  22 

a) Range = 40 – 30 = 10  b) Mode = 38 

because 38 is r epeat ed maximum 5 t imes. 
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4.  St udy the f ollowing graph and answer the f ollowing quest ions? 

 

 

 

 

 

 

 

 

 a) Which class has t he maximum number  of  childr en? 

  i) V  ii) VI   iii) VI I    iv) VI I I  

 b) Which class has t he minimum number  of  childr en? 

  i) I X  ii) X  iii) VI I    iv) VI I I  

 c) Which of  t he f ollowing is t he r at io of  st udent s of  class VI  t o t he st udent s of  class

   VI I I ? 

  i) 4:5  ii) 5:6  iii) 6: 5  iv) 8: 5 

  a) i  b) ii  c) iii =  = 6:5 

5.  The f ollowing data gives t he number of  st udent s of  Delhi stat e who sent  abroad f or 

st udy  during some years.  

 

Year  Number  of  st udent s 

1995 

1996 

1997 

1998 

1999 

2000 

1400 

1600 

1250 

1000 

2000 

2200 

 

Repr esent  t he above dat a wit h t he help of  a bar  gr aph 

I n or der  t o const r uct  a bar  gr aph r epr esent ing t he above dat a.  We f ollow t he f ollowing 

st eps. 
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a) Take a gr aph paper  and dr aw t wo mut ually per pendicular  lines OX and OY as shown in 

Fig. Call OX as t he hor izont al axis and OY as t he ver t ical axis. 

b) Along OX, mar k year s and along OY, mar k number  of  st udent s. 

c) Along OX, choose t he unif or m ( equal) widt h of  t he bar s and t he unif or m gap bet ween 

t hem, accor ding t o t he space available f or  t he gr aph. 

d) Choose a suit able scale t o det er mine t he height s of  t he bar s, accor ding t o t he 

availabilit y of  space.  Her e, we choose 1 big division t o r epr esent  200 st udent s. 

e) Calculat e t he height  of  var ious bar s as f ollows : 

The height  of  t he bar  f or  t he year  1995 is equal t o. 

 
ଵସ଴଴ଶ଴଴  = 7 big divisions ; 

The height  of  t he bar  f or  t he year  1996 

 
ଵ଺଴଴ଶ଴଴  = 8 big divisions ; 

The height  of  t he bar  f or  t he year  1997 

 
ଵଶହ଴ଶ଴଴  =  big divisions ; 

    = 6 big divisions and 2.5 small divisions 

The height  of  t he bar  f or  t he year  1998 

 
ଵ଴଴଴ଶ଴଴  = 5 big divisions ; 

The height  of  t he bar  f or  t he year  1999 

 
ଶ଴଴଴ଶ଴଴  = 10 big divisions ; 

The height  of  t he bar  f or  t he year  2000 

 
ଶଶ଴଴ଶ଴଴  = 11 big divisions ; 

f ) We dr aw t he bar s as shown in Fig. below  and on t he t op of  each bar  we wr it e t he number  of  

 st udent s r epr esent ed by it . 
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6.  I n a school,  t here are f ive sect ions of  class VI I .  The number of  st udent s in each 

  sect ion is given below.   Const ruct  a bar graph represent ing this dat a: 

 

Sect ion A B C D E 

Number  of  

st udent s 

40 48 52 45 30 

 We go t hr ough t he f ollowing st eps t o const r uct  t he bar  gr aph: 

 a) Take a gr aph paper  and dr aw t wo lines O	ݔ and OY per pendicular  t o each ot her .  Call 

t he hor izont al line as O	ݔ and t he ver t ical line as OY. 

 b) Along t he hor izont al axis O	ݔ, mar k “sect ions of  Class VI I ” and long t he ver t ical axis   

OY mar k “No. Of  st udent s”. 

 c) Along t he hor izont al axis O	ݔ,  choose t he unif or m (equal) widt h of  t he bar s and t he 

unif or m gap bet ween t hem. 

 d) Choose a suit able scale t o det er mine t he height s of  t he bar s, accor ding t o t he space 

available f or  t he gr aph.  Her e, we choose 1 small division t o r epr esent  1 st udent . 

 e) Calculat e t he height s of  t he var ious bar s as f ollows: 

 Height  of  t he bar  f or  sect ion A = 40 x 1 

 = 40 small divisions = 4 big divisions 

 Height  of  t he bar  f or  sect ion B = 48 x 1 

 = 48 small divisions = 4 big divisions and 8 small divisions 

Height  of  t he bar  f or  sect ion C = 52 x 1 

 = 52 small divisions = 5 big divisions and 2 small divisions 

Height  of  t he bar  f or  sect ion D =  45 small divisions  

= 4 big divisions and 5 small divisions 

Height  of  t he bar  f or  sect ion E =  30 small divisions  

= 3 big divisions . 
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f ) We dr aw t he bar s as shown in Fig. below and on t he t op of  each bar , we wr it e t he 

number  of  st udent s r epr esent ed by it . 

 

 

 

 

 

7.  The populat ion of  f our maj or cit ies in I ndia in a part icular year is given below : 

 

 

 

 

Const r uct  a bar  gr aph t o r epr esent  t he above dat a. 

To const r uct  t he bar  gr aph r epr esent ing t he given dat a, we f ollow t he f ollowing st eps. 

a)  We t ake a gr aph paper  and dr aw t wo mut ually per pendicular  lines O  and Oy. 

b) Along t he hor izont al line O ,  we mar k ’cit ies’ and along t he ver t ical line, we mar k t he 

‘populat ion’. 

c) Along t he axis O , we  choose  equal suit able widt h of  each bar .  The gap bet ween t he 

bar s is chosen same. 

d) Choose a suit able scale t o det er mine t he height s of  t he bar s, accor ding t o t he 

availabilit y of  space.  Her e, we choose 1 big division  t o r epr esent  20 lakh populat ion. 

e) Calculat e t he height  of  var ious bar s as f ollows: 

The height  of  t he bar  f or  Mumbai =  =  6  big divisions. 

The height  of  t he bar  f or  Kolkat a =  =  6.5  big divisions. 

The height  of  t he bar  f or  Delhi =  =  7.5  big divisions. 

The height  of  t he bar  f or  Chennai  =  =  4  big divisions. 

f ) Now, we dr aw t he bar s as shown in Fig. below and at  t he t op of  each bar  we wr it e t he 

populat ion of  t he cor r esponding cit y. 

Cit y Mumbai Kolkat a Delhi Chennai 

Number  of  

st udent s 

120 130 150 80 
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8.  The result s of  pass percentage of  Class X and XI I  in C. B. S. E examinat ion f or 5 years 

 are given in t he f ollowing table : 

 

Year X XI  

1994-95 

1995-96 

1996-97 

1997-98 

1998-99 

90 

95 

90 

80 

98 

95 

80 

85 

90 

95 

Dr aw bar  gr aphs t o r epr esent  t he dat a. 

We go t hr ough t he f ollowing st eps t o const r uct  t he bar  gr aphs : 

a) We dr aw t wp lines per pendicular  t o each ot her  on a gr aph paper  and call t hem 

hor izont al and ver t ical axes as shown in Fig. below. 

 
b) Along t he hor izont al axis, we mar k t he ‘ year s’  and along t he ver t ical axis we mar k t he 

‘pass’ per cent age.  

c) We choose a suit able scale t o det er mine t he height s of  bar s.  Her e, we choose t he 

scale as 1 big division t o r epr esent  10. 

d) Fir st  we dr aw t he bar s f or  Class X r esult s and t hen bar s f or  Class XI I  r esult s f or  

dif f er ent  year s. 

Bar s f or  X and XI I  class r esult s ar e shaded separ at ely and t he shading is shown in t he 

t op r ight  cor ner  of  t he gr aph paper . 
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9.  St udy the double bar graph given below and answer the quest ions that  f ollow: 

 

 

 

 

 

 

 

 

 

a) What  inf ormat ion does t he above double graph depict ? 

b) Name t he f ruit s f or which cost  of  1 kg is great  in Cit y I  as compared t o Cit y I I  

c) What  is the dif f erence of  rates f or apples in bot h the cit ies? 

d) Find t he rat ion of  t he cost  of  mangoes per kg in Cit y  I  t o t he cost  of  mangoes per kg 

 in  Cit y I I  (NCERT Exemplar) 

a) The double bar  gr aph compar es t he cost  of  dif f er ent  f r uit s per  kg in cit ies I  and I I  

b) Apple, Banana, Mango  and Cher r y. 

c) Since 82 – 75 = 7 t her ef or e in bot h t he cit ies t he dif f er ence of  r at es of  apples is Rs.7/ kg. 

d) 75 :60 = 5 : 4. 

10. The cards bearing let t er of  t he word “MATHEMTI CS” are placed in a bag.   A card is 

 t aken out  f rom t he bag without  look in int o the bag (at  random) 

a) How many out comes are possible when a let t er is t aken out  of  t he bag at  random? 

b) What  is t he probabilit y of  get t ing : 

i) M?  ii) Any vowel?  iii) Any consonant ?  iv) ࢞? 

a) Ther e ar e 11 out comes namely M,M,A,A,T,T,H,E,I ,C,S 

b) i) Pr obabilit y of  get t ing ‘M’ = 
ଶଵଵ 

ii) Pr obabilit y of  get t ing  a Vowel  = 
ସଵଵ 

iii) Pr obabilit y of  get t ing Consonant   = 
଻ଵଵ 

iv) Pr obabilit y of  get t ing X = 0  =  
଴ଵଵ. 
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1.  The height s of  10 girls  were measured in cm and the result s are as f ollows: 

 135,150,139,128,151,132,146,149,143,141 

 i) What  is t he height  of  t he t allest  gir l? 

 ii) What  is t he height  of  t he shor t est  gir l? 

 iii) What  is t he r ange of  t he dat a? 

 iv) what  is t he mean height  of  t he gir ls? 

 c) How many gir ls have height  mor e t han t he mean height  

i) Height  of  t allest  gir l = 151 cm 

ii) Height  of  shor t est  gir l = 128 cm 

iii) Range = Height  of  t allest  – Height  of  shor t est  gir l 

= 151 – 128 cm = 23 cm 

iv) Mean = 
ଵଷହାଵହ଴ାଵଷଽାଵଶ଼ାଵହଵାଵଷଶାଵସ଺ାଵସଽାଵସଷାଵସଵଵ଴  = 

ଵସଵସଵ଴  = 141.4 cm 

2.  Calculat e t he mean and median f or t he f ollowing data.  

 Mar ks 10 11 12 13 14 16 19 20 

Number  of  st udent s 3 5 4 5 2 3 2 1 

Using empir ical f or mula, f ind it s mode. 

Ar r anging t he dat a in t abular  f or m, we have 

Mar ks 

(x) 

Tally Mar ks Number  of  

st udent s  

(݂) 

Cumulat ive 

Fr equency 

݂ x  ݔ	

10 l l l 3 3 30 

11 l l l l 5 8 55 

12 l l l l 4 12 48 

13 l l l l 5 17 65 

14 l l 2 19 28 

16 l l l 3 22 48 

19 l l 2 24 38 

20 l 1 25 20 

Tot al  25  332 

I I  Long Answer Quest ions 
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Mean = 
ௌ௨௠	௢௙	௙	୶	௫		୒୳୫ୠୣ୰	୭୤	ୱ୲୳ୢୣ୬୲ୱ = 

ଷଷଶ		ଶହ   = 13.28 

Number  of  st udent s 9n) = 25 ∴ Median = Value of  ቀଶହାଵ	ଶ ቁt h   = 13 t h obser vat ion i.e. 13 is t he median 

Empir ical f or mula is Mode = 3 Median – 2 Mean 

 = 3 x 13-2 x 13.28 = 12.44 

Hence, t he mode is 12.44. 

3.  The t able below gives t he f lavours of  ice cream liked by children (boys and girls) of  a 

 societ y.  

Flavour s Vanilla Chocolat e St r awber r y Mango  But t er scot ch 

Boys 4 9 3 8 13 

Gir ls 8 12 7 9 10 

St udy t he t able and answer  t he f ollowing quest ions: 

i) Dr aw a double bar  gr aph using appr opr iat e scale t o r epr esent  t he above inf or mat ion. 

ii) Which f lavour  is like t he most  by t he boys? 

iii) How many gir ls ar e t her e in all? 

iv) How many childr en like chocolat e f lavour  of  ice cr eam? 

v) Find t he r at io of  childr en who like st r awber r y f lavour  t o vanilla f lavour  of  icecr eam. 

 i) We go t hr ough f ollowing st eps t o const r uct  t he bar  gr aphs. 

 St ep 1: We dr aw lines per pendicular  t o each ot her  on a  gr aph paper  and call t hem 

hor izont al and ver t ical axis. 

 St ep 2 : Along t he hor izont al axis, we mar k t he ‘f lavour s’ and along t he ver t ical axis, we 

mar k t he ‘f lavour s liked’. 

St ep 3 : We choose suit able scale t o det er mine t he height  of  bar s.  Her e we choose t he 

scale as I  big division t o r epr esent  2. 

St ep 4: Fir st , we dr aw t he bar s f or  f lavour s liked by boys and t hen bar s f or  f lavour s 

liked by gir ls. 

St ep 5: We dr aw t he bar s ar e shown in f igur e. 

Bar s f or  boys and gir ls ar e shaded separ at ely and t he shading is shown in t op r ight  

cor ner  of  gr aph paper . 
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ii) But t er scot ch 

iii) Tot al gir ls = 8+12+7+9+10=46 

iv) Childr en  who lie chocolat e f lavour  = 9 +12 = 21 

v) Rat io is 10: 12 or  5 : 6. 

4.  Tell whet her the f ollowing is certain t o happen,  impossible can happen but  not  cert ain 

i) You are older t oday t han yest erday.  

ii) A t ossed coin will land heads up.  

iii)A die when t ossed shall land up with8 on top.  

iv) The next  t raf f ic light  seen will be green 

v.  Tomorrow will be a cloudy day.  

 i) Cer t ain t o happen 

 ii) Can happen but  not  cer t ain 

 iii) I mpossible 

 iv) Can happen but  not  cer t ain 

 v) Can happen but  not  cer t ain. 
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1.  I n a block the number of  girl st udent s in seven primary schools are as f ollows: 

 37,38,35,40,45,52,40 

 a) Find t he mean of  t he given dat a 

 b) Which mat hemat ical concept  is used in t his pr oblem? 

 c) What  is it s value? 

 a) Mean =  =  = 41 

b)  Mean of  given dat a 

c) Value : Gir l child has equal r ight  t o get  pr oper  educat ion. Ther e should be no 

discr iminat ion bet ween boys and gir ls. 

2.  I ndif f erent  cit ies t he average weight  ( in gram) of  prot ein f ood provided per child 

under the  age of  15 years is a s f ollow: 

80,90,75,110,90,80,85,90,110,80,75,80,110,80,75,80,110,90,85,80,75,90,85,110,90,90,75,110,85 

a) On t he basis of  given dat a make a f r equency dist r ibut ion t able. 

b) Which mat hemat ical concept  is used in t his pr oblem? 

c) What  is it s value? 

Sol: a) 

Weight  of  pr ot ein f ood 

(in gr am) 

Tally Mar ks Fr equency 

75 

80 

85 

90 

110 

l l l l 

l l l l 

l l l l 

l l l l l l 

l l l l 

4 

5 

4 

7 

5 

Tot al  n = 25 

  

b)Tabulat ion of  dat a 

c) I n I ndia, childr en need suf f icient  pr ot ein f ood f or  nut r it ion 

Or  

A nat ion has t o t ake one of  it s human r esour ces. 

 

Value Based Quest ions 


